normalized X?

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

[ normalized x? probability |

Entries

Mean
Std Dev

0.9309

Entries
Mean
Std Dev

7323
0.9219
0.2286

Entries
Mean
Std Dev.

0.9223
0.2:

|

|

|
01020304

Entries
=] Mean
Std Dev.
~

0506070809 1
Prob(x2)

0.6 ] )
= 0.9
0 2 4 6 8 10 12 14 16 18 20 0
2
m=m== DQM_original_step2__pt1to1000_eta2pOto2p5
s DQM_mkFit_step2__pt1to1000_eta2p0to2p5
wmm—= DQM_pixelCPETemplate_step2__pt1to1000_eta2pOto2p5
5
1.8 cmeens Feeenn B A .
IS R AL LR RN R
R e R LR

< X2/ ndf >

i

Ratio

1072 107
AR(track, jetg)



	Contents
	Page 1


